RITTEFE MRIZFEZHRR

CERR 31542

(847 : )
% & B8 553 ] tH X B e %
4868 WEMBhiRsERIDS 6,500
48118 TThERES 10,000
48238 IRBRREISREEERIME 5,000
485248 MmE=ZEE BPIEEN 10,000
48526H MEAEEEERRERXBRE 7,000
H 38,500

<BITTESB>
(847 : )
% & B8 553 ] tH X & %
58108 BRIKISBREFLE 10,740
58168 TThE¥EEZS 5,000
58228 BTOHANTOY « DISWKE 3,000
58178 EEBEERNEEER 5,000
58248 MELRERRAERRS 8,000
58288 MR LSRESHES 4,000
g 35,740
g 74,240

<BITTES B>
(847 : )
&+t B8 |xHE = ] tH X & %
6818 = B |DHUnFEMKEHE 6,000
6/8H = B BHZESK 4“LHseaRHRiEs 3,000
689H = B | AEMXELSERERMS 10,000
6A168| & B |FREBLESEESERIMAE 5,000
6/218 & #H |EEZESERGSERIR 5,000
68238 & #H  |REMEREXRXSHEIT 10,000
6R/27483 F #H |HRHERERZIIEZERETEE 5,000
68288 B £ & |MEmEEE BB 5,000
(=] i 49,000
2 g 123,240




<HBITETR>

(8471 : )
X B 8 |[XHIEB = uw 1 # X B & %
76| = Z |KEBEEKRISIBRS 6,000
7858 & B |hEXES- - hEliARSICEEZESREBRA 7,000
7B228| = & |HEMELAEBERESERRERRE 7,000
7H228| B X & |REtEAEERESRERRE 36,000
7H268| B X & |hHBESXNSRERREEENFLIE 2,500
7TH298 & H |aheAEESEMREER 5,000
=] 5t 63,500
= H 186,740

<BATES B>
(8471 : )
X B 8 |[XHIEB = uw 1 # X B & %
8A7B| & #H |nEEERSSHIH 5,000
8898 = & |ReRtEBIIRERESRRRIRE 2,000
88128 & # |MHEHBEZRSSHIN 5,000
88208| & X & |[HSHEZESHIN 3,944
88208| B & & |WEMKRR+I»IU—0DE U RPZPHEOBOFELE 12,960
8A26H| & B |[EhIRIASEGERRESS 6,000
8820H| & #H [nR4AEZS - REFZSER 5,000
=] 5t 34,904
N 5t 221,644

<BITEO />
(87 : M)
X 8 B | XEEB < i 1 & b i ]
98118 & #H |TREERE - REZSER 5,000
98208 & # |mBIzIsRER 5,000
o/218 = & |IWSDSERDEGTEZERERS 5,000
08258 = & [MERURESR - VILIN-—AMEYI-ENERIBRE 8,000
=] 5t 23,000
N 5t 244,644

<HITTE1 0>

(817 : 1D
X 8 B | XEEB < i 1 & X B T %
10878 & B |BKItEERRESHESENRA 5,000
10898| & &= & |[EWMERRICHOP RISES 2,130
108168 = B |SERIREZERRBR 5,000
108248 & # |[UEMREICFERER 5,000
108278 = B |[{IRYKEEPHRESENRER 10,000
=] 5t 27,130
= H 271,774




<HATTE1 15

(841 : )

x # B |xHBEBEB 52 us] 1 & x W & %
11838 & # |UEHESESEXRSHIN 5,000
11838 % B |UEHESZEEXRSHIT 13,200
11888 & #H |[nUWEMEEETEZSRSHIT 5,000
118228 & 8 |dMEBEREIRSEERESR 6,000
118258 & & |HENRQIEHEEXINHERRRBRA 6,500
118268 B & & |RRXEEASHREROFRS 9,866
118288 = & [K&/NNLIJREMRNRBSERS 6,000
1182908 & # [IRERS - REZSER 5,000
=] 5t 56,566
= 5t 328,340

(HRTTFE12>

(841 : )

x # B |xHBEBEB 52 us] 1 & x B & %
12858 & & |UEDX#HBARER 6,000
12868 & & |UEHRATKERFER 6,000
12878 & B |MKETHRSS 6,000
128128 & B |ZHaiiEascds 5,000
128168 &= & |UEEMSEEXBA 5,000
128188 & # |[TRERS - REZSER 5,000
128208 = & |[mMIYIN\N—AMEVY-EEERBR 6,000
128248 & & |REFEHHTESRERRBS 10,000
=] 5t 49,000
R 5t 377,340

<HI2F18>

(841 : )

x # B |xHBEBEB 52 us] 1 & x B & %8
1888 & & |FPERREZES-REZESREIFES 5,000
18138 & & |WE=f= 6,000
18148 & & |FBRABITIELCRHIFTEEMNR 8,000
18168 = B |BasESaiisains 7,000
18178 & & |hERESEHFRILS 10,000
18208 &= & |BEYGEBRNFRIR 5,000
18208 & # |[TEXEEEZF8K ShlR 5,000
18258 & B |[IWU3LKEBI\EESSEIVCENKEAERYSHTSRES 10,000
18258 & & |[RURZBOIEERESDA 10,000
18278 & &£ & |NERFEFHEICHEDIFIE 10,800
=] 5t 76,800
= 5t 454,140




HR2F28>

(87 1 /)
X & B [ZXHBIEB = ] H X B £ 8
2818 & # |nE4AENEEBBESaRSAR 5,000
285188 = B |EBZ2KeHmsEIRS 6,100
=] 5t 11,100
= H 465,240

<BF2F3->
(87 1 /)
X & B |[ZXBIEB = ] H X B £ 8
3826H & #H | TlWEMERMHERE SR 10,000
=] 5t 10,000
= 5t 475,240




